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Botany: Biological Classification, Zoology: Structural organization in animals 

Chemistry: Structure of Atom, Physics: Motion in a Straight Line 

 
1. Identify the incorrectly matched pair: 

1) Diatoms: Chief producers in oceans 

2) Dinoflagellates: Red tides 

3) Slime moulds: Spores dispersed by water 

4) Euglenoids: Protein rich pellicle 

 

2. Cells in some filamentous cyanobacteria that are 

specialized for nitrogen fixation are called: 

1) Phycobilisomes 

2) Chromatophores 

3) Grana 

4) Heterocysts 

 

3. Viroids differ from viruses in having 

1) DNA molecules with protein coat 

2) DNA molecules without protein coat 

3) RNA molecules with protein coat 

4) RNA molecules without protein coat 

 

4. One of the major components of cell wall of most 

fungi is 

1) peptidoglycan 

2) cellulose 

3) hemicellulose 

4) chitin 

 

5. Which one of the following organisms is not an 

example of eukaryotic cells? 

1) Escherichia coli 

2) Euglena viridis 

3) Amoeba proteus 

4) Paramecium caudatum 

 

6. ‘A’ is the main tissue that provides structural 

frame to the body. ‘A’ is type of ____. 

1) Epithelial tissue 

2) Connective tissue 

3) Muscular tissue 

4) Neural tissue 

 

7. The wings of cockroach used in flight are 

1) Mesothoracic wings 

2) Metathoracic wings 

3) Tegmina 

4) Elytra 

 

 

1. jtwhfg; nghUe;jpa ,izia milahsk; 
fhzTk;: 
1) lal;lk;fs;: fly;fspy; Kjd;ik 

cw;gj;jpahsu;fs; 
2) Dinoflagellates: rptg;G miyfs; 
3) Slime moulds:: ePu; %yk; rpjwbf;fg;gl;l 

tpj;Jfs; 
4) A+f;spdha;Lfs;: Gujk; epiwe;j ngy;ypf;fps; 

2. iel;u[id epiyepWj;Jtjw;F rpwg;G tha;e;j 
rpy ,io raNdhghf;Bupahtpy; cs;s nry;fs; 
___ vd miof;fg;gLfpd;wd: 
1) igNfhgpypNrhk;fs; 
2) FNuhkNlhNghu;]; 
3) fpuhdh 
4) n`l;NlhNuhrp];l;fs; 

3. ituha;Lfs; __ vt;thW itu];fspypUe;J 
NtWgLfpd;wd 

1) Guj ciw nfhz;l DNA %yf;$Wfs; 
2) Guj ciwaw;w DNA %yf;$Wfs; 
3) Gujg; ciw nfhz;l RNA %yf;$Wfs; 
4) Gujg; ciwaw;w RNA %yf;$Wfs; 

4. ngUk;ghyhd G+Q;irfspd; nry; Rtupd; Kf;fpa 
$Wfspy; xd;W 

1) ngg;bNlhf;spfhd; 
2) nry;YNyh]; 
3) n`kpnry;YNyh]; 
4) ifl;bd; 

5. gpd;tUk; capupdq;fspy; vJ A+fhupNahbf; 
nry;fSf;F cjhuzk; ,y;iy? 
1) Escherichia coli 

2) Euglena viridis 

3) Amoeba proteus 

4) Paramecium caudatum 

6. 'A' vd;gJ clYf;F fl;likg;G rl;lj;ij 

toq;Fk; Kf;fpa jpR MFk;. 'A' vd;gJ ____ ,d; 
tif. 

1) vgpjPypay; jpR 

2) ,izg;G jpR 

3) jir jpR 

4) euk;G jpR 

7. gwf;Fk; NghJ gad;gLj;jg;gLk; fug;ghd; 
G+r;rpapd; ,wf;iffs; 
1) kPNrhNjhuhrpf; ,wf;iffs; 
2) nkl;lhNlhuhrpf; ,wf;iffs; 
3) nlf;kpdh 
4) vypl;uh 
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8. Choose the correct match among the following 

w.r.t. cockroach. 

1) Anal style - Responsible for sexual 

dimorphism, present in females 

2) Spermatheca - Single, present in 6th segment 

3) Titillator and pseudopenis - Constitute the 

right phallomere in males 

4) Phallic gland - Part of reproductive system in 

male 

 

9. Select the correct sequence of organs in the 

alimentary canal of cockroach starting from 

mouth. 

1) Oesophagus → Pharynx → Gizzard → Crop 

→ Midgut → Ileum → Colon → Rectum 

2) Pharynx → Oesophagus → Gizzard →  

Midgut → Colon → Ileum → Rectum 

3) Pharynx → Oesophagus → Crop → Gizzard 

→ Mesenteron → Ileum → Colon → 

Rectum 

4) Pharynx → Crop → Oesophagus → Gizzard 

→ Mesenteron → Ileum → Rectum → 

Colon 

 

10. Which of the following connective tissue lacks 

cells that secrete fibres of structural proteins? 

1) Alveolar tissue 

2) Blood 

3) Adipose 

4) Tendon 

 

11. Angular nodes present in 4s and 2p orbitals 

respectively are 

1) 1, 0 

2) 3, 0 

3) 0, 1 

4) 2, 3 

 

12. The angular momentum of electron in d-orbital 

is 

1) Zero 

2) 
ℎ

√2𝜋
 

3) √
3

2

ℎ

𝜋
 

4) 
ℎ

2𝜋
 

 

 

 

8. gpd;tUk; ,jpy; rupahd nghUj;jj;ijj; Nju;T 

nra;aTk;. fug;ghd; G+r;rp. 
1) kytha; ePl;rpfs; - ngz;fspy; ,Uf;Fk; 

ghypd ,Utifikf;F nghWg;G 

2) tpe;Jf;nfhs;ig- xd;W> 6tJ gpuptpy; 
cs;sJ 

3) ill;bNyl;lu; kw;Wk; Nghyp Mz;Fwp cWg;G 
- Mz;fspy; rupahd /ghNyhkpaiu 
cUthf;FfpwJ 

4) /Ngypr; Rug;gp - Mzpd; ,dg;ngUf;f 
mikg;gpd; xU gFjp 

 

9. fug;ghd; G+r;rpapd; czTf; fhy;thapy; cs;s 
cWg;Gfspd; rupahd tupiriaj; 
Nju;e;njLf;fTk;. 
1) czTf;Foha; → Fuy;tis → muitg;ig 

→ jPdpg;ig → eLf;Fly; → rpWFly; → 

ngUq;Fly; → kyf;Fly; 
2) Fuy;tis → czTf;Foha; → muitg;ig 

→ eLf;Fly; → ngUq;Fly; → rpWFly; → 
kyf;Fly; 

3) Fuy;tis → czTf;Foha; → jPdpg;ig → 

muitg;ig → eLFly;; → rpWFly; → 

ngUq;Fly; → kyf;Fly; 
4) Fuy;tis → jPdpg;ig → czTf;Foha; → 

muitg;ig → eLFly;; → rpWFly; → 

kyf;Fly; → ngUq;Fly; 
 

10. fl;likg;G Gujq;fspd; ,iofis Ruf;Fk; 
nry;fs; ,y;yhj ,izg;G jpR vJ? 
1) my;tpNahyu; jpR 

2) ,uj;jk; 
3) nfhOg;G 

4) jirehu; 
 

11. 4s kw;Wk; 2p Mu;gpl;lhy;fspy; ,Uf;Fk; Nfhz 
fZf;fs; KiwNa 

1) 1, 0 

2) 3, 0 

3) 0, 1 

4) 2, 3 

 

12. d-Mu;gpl;lhypy; vyf;l;uhdpd; Nfhz ce;jk; 
1) Zero 

2) 
ℎ

√2𝜋
 

3) √
3

2

ℎ

𝜋
 

4) 
ℎ

2𝜋
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13. Maximum possible number of spectral lines 

obtained in Lyman series when an electron in H-

atom sample de-excites from third excited state 

to ground state is 

1) 3 

2) 6 

3) 4 

4) 8 

 

14. When light of frequency (v) falls on a particular 

metal surface then the correct graph of kinetic 

energy (KE) of ejected electrons versus v is given 

by 

1) 

  
2) 

  
3)  

 
4) 

  
 

15. The wave number for the shortest wavelength 

transition in the Paschen series of atomic 

hydrogen is (RH : Rydberg constant) 

1) RH 

2) 
𝑅𝐻

9
 

3) 
7𝑅𝐻

144
 

4) 
9

7
𝑅𝐻 

 

 

 

 

 

 

 

 

 

 

13. H-mZ khjpupapy; cs;s vyf;l;uhd; 
fpsh;r;rpj;jzpg;ghy; %d;whtJ epiyapypUe;J 
jiu epiyf;Fj; J}z;lg;gLk;NghJ iykd; 
njhlupy; ngwg;gl;l mjpfgl;r epwkhiyf; 
NfhLfspd; vz;zpf;if 

1) 3 

2) 6 

3) 4 

4) 8 

 

14. xU Fwpg;gpl;l cNyhfg; gug;gpy; mjpu;ntz; (v) 
nfhz;l xsp tpOk;NghJ> ntspNaw;wg;gl;l 

vyf;l;uhd;fspd; ,af;f Mw;wYf;Fk; (KE) 
mjph;ntz;zpw;Fk; vjpuhd rupahd tiuglk; 
vJ? 

1) 

  
2) 

  
3)  

 
4) 

  
 

15. i`l;u[d; mZtpd; gh~d; njhlupy; FWfpa 

miyePs khw;wj;jpw;fhd miy vz; (RH : 

Rydberg khwpyp) 
1) RH 

2) 
𝑅𝐻

9
 

3) 
7𝑅𝐻

144
 

4) 
9

7
𝑅𝐻 
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16. A ball starts moving eastward with speed 35 m/s. 

An acceleration of 10 m/s2 is acting on it in 

westward direction. What is distance travelled by 

particle 4th second of Its motion? 

1) Zero 

2) 1.25 m 

3) 2.5 m 

4) 5 m 

 

17. A particle is moving on a straight line such that 

its velocity is given by v = 6t + 3t2, where v is in 

m/s and t is in second. If at t = 0, the particle is at 

origin then average velocity during t = 0 to t = 3s 

is 

1) 18 m/s 

2) 9 m/s 

3) 5 m/s 

4) 27 m/s 

 

18. A body is thrown vertically upward with speed 

25 m/s at t = 0. The body reaches a certain height 

at time t = 2 second. It will be at the same height 

again at the time t = t’ equals to 

1) 4 second 

2) 3 second 

3) 5 second 

4) 2.5 second 

 

19. A particle moves for the first one third of the total 

time of journey with speed 30 km/h and with 

speed 15 km/h for the remaining time. Average 

speed during total journey is 

1) 17 km/h 

2) 45/2 km/h 

3) 20 km/h 

4) 25 km/h 

 

20. A particle is moving in a straight line under 

constant acceleration. If the particle starts from 

rest then the ratio of displacement in 5 seconds 

to that in the 5th second is 

1) 25/16 

2) 25/9 

3) 9/25 

4) 16/25 

 

16. xU ge;J 35 m/s Ntfj;jpy; fpof;F Nehf;fp efuj; 
njhlq;FfpwJ. 10 m/s2 vd;w KLf;fk; Nkw;F 

Nehf;fp mjd; kPJ nray;gLfpwJ. mjd; 
,af;fj;jpy; 4tJ tpdhbapy; Jfs; gazpf;Fk; 
J}uk; vd;d? 
1) Zero 

2) 1.25 m 

3) 2.5 m 

4) 5 m 

 

17. xU Jfs; xU Neu; Nfhl;by; efu;fpwJ> mjd; 
Ntfk; v = 6t + 3t2vd toq;fg;gLfpwJ> v MdJ 

m/s ,y; cs;sJ kw;Wk; t MdJ s y; cs;sJ.  

t = 0 ,y; Jfs; ikaj;jpy; ,Ue;jhy; t = 0 Kjy; 
t = 3s tiu ruhrup Ntfk; 
1) 18 m/s 

2) 9 m/s 

3) 5 m/s 

4) 27 m/s 

 

18. xU nghUs;; nrq;Fj;jhf Nky;Nehf;fp 25 m/s 
Ntfj;jpy; t = 0 ,y; tPrg;gLfpwJ. nghUs; t = 2 
tpdhbapy; xU Fwpg;gpl;l cauj;ij 

milfpwJ. mJ kPz;Lk; mNj cauj;jpy; 
,Uf;Fk; NghJ Neuk; t = t’ MdJ 

1) 4 second 

2) 3 second 

3) 5 second 

4) 2.5 second 

 

19. xU Jfs; gazj;jpd; nkhj;j Neuj;jpd; Kjy; 
%d;wpy; xU gFjpf;F 30 fpkP/kzp Ntfj;jpYk;> 
kPjKs;s Neuj;jpw;F 15 fpkP/kzp Ntfj;jpYk; 
efUk;. nkhj;j gazj;jpd; NghJ ruhrup Ntfk; 
1) 17 km/h 

2) 45/2 km/h 

3) 20 km/h 

4) 25 km/h 

 

20. xU Jfs; epiyahd KLf;fj;jpd; fPo; xU 

Neu;Nfhl;by; efu;fpwJ. Jfs; Xa;tpy; ,Ue;J 

njhlq;fpdhy;> 5 tpdhbfspy; ,lg;ngau;r;rp 
f;Fk;; 5 tJ tpdhbapy; ,lg;ngau;r;rpf;Fk;; 
cs;s tpfpjk; 
1) 25/16 

2) 25/9 

3) 9/25 

4) 16/25 
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